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Lösung Zusatz

Mit

S =









1 2 0 3 −1 2i −1 −2i

−1 −2 1 0 1 0 1 0
0 0 0 1 −i −1 i −1
0 1 2 0 1−i −1−2i 1+i −1+2i

−1 −3 −1 0 −1−i 1+2i −1+i 1−2i

0 1 2 0 1−i 1 1+i 1
0 0 0 0 i 1 −i 1

−3 −7 2 0 1+i 1 1−i 1









wird

J := S−1AS =









2 1 0 0 0 0 0 0
0 2 1 0 0 0 0 0
0 0 2 1 0 0 0 0
0 0 0 2 0 0 0 0
0 0 0 0 i 1 0 0
0 0 0 0 0 i 0 0
0 0 0 0 0 0 −i 1
0 0 0 0 0 0 0 −i









Der Eintrag von Am an Position (1, 1) berechnet sich über Am = SJmS−1 und beträgt

2m(m − 1) +
1

2
·



















m + 4 für m ≡4 0

m + 1 für m ≡4 1

−(m + 4) für m ≡4 2

−(m + 1) für m ≡4 3

.


